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������ %<I

ψ =
∑
i

ciψ
(c)
i , ; �=

�� ψ(c)
i K �����	�� ������� ���������	� �	
����9 i
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����	��	 �	�����&���� ciI∑
i

((
E

(0)
i − E

)
δij +H

(1)
ji
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ci = 0. ; .=
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	����
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	��� �������� �� �	
	
	�	� �����#
��	� ������� M������ 
���	�	 �	�� �� 
	�����	#
���	� �������	� ������� M������ ����	�	 �	��I

ψ0
1s
(r) =

{
A1s,1 · j0 (k1sr) , r � a,
A1s,2 · k0 (χ1sr) , r > a,

=

=

{
g1s,1(r), r < a,
g1s,2(r), r � a,

; 3=

��

k1s =

√
2m∗

1

�2
E10, χ1s =

√
2m∗

2

�2
(U0 − E10),
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Ψ1(r) =

{
B1,1 · g1,1(r) exp [−α1λ(r,D, θ)] , r � a,

B1,2 · g1,2(r) exp [−β1λ(r,D, θ)] , r > a,

; $=

��������	 
��
���� �	����� ���������� �� 	����������� ��� ����
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�� λ(r,D, θ) =
√
r2 +D2 − 2rD cos θ� B ���������

�
	� ��� ������� ; $= ����	��
	

B1,2 = B1,1 exp
[
(β1 − α1)

√
r2 +D2 − 2rD cos θ

]
,

β1 =
m∗

2

m∗
1

α1.
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���(���	 
���
�����&� ������	����I

E1 (α) =
〈Ψ1|H|Ψ1〉
〈Ψ1|Ψ1〉 . ; D=

-��
	����� � ; $= 	
���& ���&
	��� ������	�� �
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ψ0
2p
(r) =

{
A2p,1 · j1 (k2pr) , r < a,
A2p,2 · k1 (χ2pr) , r � a,

=

=

{
g2p,1(r), r � a,
g2p,2(r), r > a,

; E=

�� k2p =
√

2m∗
1

�2 E21, χ2p =
√

2m∗
2

�2 (U0 − E21)9
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Ψ2(r) = (cos θ −D/c)×
×
{
B2,1 · g2p,1(r) exp [−α2λ(r,D, θ)] , r � a,
B2,2 · g2p,2(r) exp [−β2λ(r,D, θ)] , r > a.

=

= (cos θ − D/c)F2 (r) ,
; ,=

�� λ(r,D, θ) =
√
r2 +D2 − 2rD cos θ9 c K ����� ���#

��9 2	 ���������
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	� ��� ���#
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B2,2 = B2,1 exp
[
(β2 − α2)

√
r2 +D2 − 2rD cos θ

]
,

; F=

β2 =
m∗

1 +m∗
2

(
α2

(√
a2 +D2 − 2aD cos θ − 2

)− 1
)

m∗
1

(√
a2 +D2 − 2aD cos θ − 2

) .
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drΨ1(r)Ψ2(r) = 0
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c = D

∫
drΨ1(r)F2 (r)∫

drΨ1(r) cos θF2 (r)
. ;� =

%	�����&�� c �����	 ;� = �������� ���� ��� �����#
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M1,2 = 〈2 |ez| 1〉 =
∫
drΨ∗

2(r)er cos θΨ1(r), ;��=

� ���� 	������	�� ��
����� ���I

f1,2 =
2m0

e2�2
(E2 − E1) |M1,2|2 . ;�.=
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α (ω) = ω

√
μ0

ε0ε

σ |M1,2|2 �Γ1,2

(E2 − E1 − �ω)2 + (�Γ1,2)
2 , ;�3=

�� ω K ����	�� 
�����	� �����9 ε0 K ���������� ���#
��9 μ0 K 
������� �����9 ε K ������������ 
�	��#
������ %<9 �Γ1,2 K ������� ����������9 2	 ��
	���#
�� ������	�#�	�	��	� ���&
	��&� �� ����
� ��#
��	��
� �	�������� H������ ������� � %< σ ��#
7���	 �� 	��	�� 
��
�2����9 2	 � %< 
	�� ���#
�	������ ����  ������	� ;�	
���	��( ������	�=9
�	
� σ = 3/

(
4πa3

)
�

��  ���
! �
!������
�

%	������� 	7�������� 
�	�����	 ��� %< ����#
�	�����
� CdS/SiO29 
���
���� ��	� �����
��I

m∗
1 = 0.2, m∗

2 = 0.42, ε1 = 5.5,

ε2 = 3.9, U0 = 2.7 eV.

O�2	 � ���� ��2���������� �	�
���� 
��(��#
��9 2	 ������������ 
�	����	��� 	����	�� � �	���#
����� �� �������	
� ����
�����	
� ��������
;ε1 = ε2 = εaver=9 �	 �������� ��� 
	��������(��
�	������ <	7�	

Vp (r) = 0, W (r, 0) = V (r) =
−e2
εaverr

,

W (D, r) =

=
−e2
εaver

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

∞∑
n=0

rn

Dn+1
Pn (cos (θ)), D > r,

∞∑
n=0

Dn

rn+1
Pn (cos (θ)), D < r,

=

=
−e2

εaver |r−D| .
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